Tender No: TN-151-22-23 **Closing Date/Time:** 20/01/2023 15:00

SR.DEN/CO.ORDN acting for and on behalf of The President of India invites E-Tenders against Tender No **TN-151-22-23** Closing Date/Time 20/01/2023 15:00 Hrs. Bidders will be able to submit their original/revised bids upto closing date and time only. Manual offers are not allowed against this tender, and any such manual offer received shall be ignored.

1. NIT HEADER

Name of Work	Provision of passengers Engineer/Sealdah in Sea	lifts (02 nos) at Ballyhalt Station under the aldah Division.	jurisdiction of Assistant
Bidding type	Normal Tender		
Tender Type	Open	Bidding System	Single Packet System
Tender Closing Date Time	20/01/2023 15:00	Date Time Of Uploading Tender	27/12/2022 19:25
Pre-Bid Conference Required	No	Pre-Bid Conference Date Time	Not Applicable
Advertised Value	4657951.30	Tendering Section	SR.DEN/1
Bidding Style	Single Rate for Each Sch	nedule Bidding Unit	
Earnest Money (Rs.)	93200.00	Validity of Offer (Days)	60
Tender Doc. Cost (Rs.)	0.00	Period of Completion	6 Months
Contract Type	Works	Contract Category	Expenditure
Bidding Start Date	06/01/2023	Are Joint Venture (JV) firms allowed to bid	No
Ranking Order For Bids	Lowest to Highest	Expenditure Type	Capital (Works)

2. SCHEDULE

S	S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Scl	hedule	A-GENERA	L WORK					120487.10	Above/ Below/Par
4		Please see	Item Breaku _l	o for details.		84368.81	42.81	120487.10	
ı		Description	:- Items rela	ated with ear	th work, gen	eral work etc.			

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedule	B-NON SCH	HEDULE ITE	MS				483458.00	Above/ Below/Par
	Please see	Item Breaku	p for details.		483458.00	AT Par	483458.00	
2	Description	1:- Items rela	ated with nor	n schedule w	ork .			

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedule	A1-CC/RCC	WORK					295421.10	Above/ Below/Par
0	Please see	Item Breaku	p for details.		195928.57	50.78	295421.10	
3	Description	1:- Items rela	ated with cer	ment work et	c.			

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedule	A2-BRICK V	VORK					62381.71	Above/ Below/Par
4	Please see	Item Breakuj	o for details.		36736.18	69.81	62381.71	
4	Description	1:- Items rela	ted with bric	k work				

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedul	e A3-WOOD \	WORK					36234.84	Above/ Below/Par
F	Please see	Item Breaku	o for details.		24542.70	47.64	36234.84	
5	Description	ı:- Items rela	ited with fibe	r glass, wood	d etc.			

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedule	A5-STRUC	TURAL STE	EL WORK				3155434.02	Above/ Below/Par
0	Please see	Item Breakı	up for details	3.	2737191.20	15.28	3155434.02	

Page 1 of 11 Run Date/Time: 27/12/2022 19:26:25

Tender No: TN-151-22-23 **Closing Date/Time:** 20/01/2023 15:00

Description:- structural steel work

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedule	• A6-CEMEN	T/PPC WOR	K				191478.17	Above/ Below/Par
7	033063	22.05	Tonne	6842.50	150877.13	26.91	191478.17	
	Description	:- Supply an	nd using cen	nent at worksi	te : PPC			

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedule	A7-REINFO	RCEMENT W	ORK				313056.36	Above/ Below/Par
	045016	3000.00	Kg	69.36	208080.00	50.45	313056.36	
8	-	,			.C. work includin nically Treated ba	0	ng, cutting, bendi	ing, placing in

3. ITEM BREAKUP

Schedule	Schedul	le A-GENERAL WORK				
Item- 1	Items re	elated with earth work, general work etc.				
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
		Earth work in excavation as per approved drawings and dumping at embankment site or spoil heap, within railway land, including 50m lead and 1.5m lift, the lead to be measured from the centre of gravity of excavation to centre of gravity of spoil heap: the lift to be measured from natural ground level and paid for in layers of 1.5m each, including incidental work, as per specifications-in				
1	011011	All kinds of soils	cum	102.20	88.16	9009.95
2	012010	Extra over item 011010 for excavation in foundations for buildings and bridges to cover dressing to neat dimension and plumbing sides etc. Note: Dressing under this item is payable for the total quantity of excavation in foundation and not partly		102.20	9.20	940.24
3	012050	Supplying and filling sand in plinth and under floors including watering, ramming, consolidating and dressing complete		9.58	359.67	3445.64
4	014110	Providing and removing barricading with the help of portable fencing along the running track where the work is to be done in close vicinity of the track. Fencing shall consist of self supporting steel angles of size 50 x50x6mm, 1.5m long provided with hooks etc. and embedded in CC 1:2:4 block of size 0.23x0.23x0.23M placed at c/c distance of 2.0 M along the track. 12 mm dia rods in three horizontal layers tack welded with the angle posts including providing Retro-reflective tapes in Horizontal & vertical direction. Note: Released material will be the property of the contractor after the completion of work. Cost of cement to be paid separately.		36.00	296.72	10681.92
5	021510	Hiring of JCB Machine (in good working condition) for leveling and dressing ground / dismantling structures including disposal of debris through dumpers etc. with contractor's labour, JCB machine, machine operator, fuel, etc. The contractor shall arrange road permit for vehicle for all the States of operation, as per instructions of engineer in-charge and vehicle shall not be more than three years old. Payment shall be made for actual working hours at site.		16.00	1061.27	16980.32

Page 2 of 11 Run Date/Time: 27/12/2022 19:26:25

Tender No: TN-151-22-23 **Closing Date/Time:** 20/01/2023 15:00

6	109200	Providing and fixing permanently colour coated trapezoidal profiled sheet of depth 28-30mm at 195-205mm pitch distance with precisely engineered 'Rib & Flute" design. Profiled sheets shall be min. 0.5mm TCT/0.45mm BMT high tensile zinc aluminium alloy coated zincalume / galvalume steel sheet (550 mpa yield strength) having a coating of mass of 150 gsm zinc-aluminium coating AZ-150 total on both sides as per, AS 1397:1993 finished with 20 microns approved colour coating of Silicon Modified Polyester (SMP) / Super Polyester paint coat on exposed surface over a primer coat of 5 microns and a back coat of 5 microns on reverse side over a 5 microns primer coat. There shall be 2 small ribs/square flutes between profiles for providing additional strength. The sheet to be fixed over the purlins with hexagonal head self drilling suitable fasteners with neoprene / EPDM washer on crests of the sheet		55.00	734.20	40381.00
		Providing & fixing of coloured galvalume plain sheet flashings at ridges / apex junctions of roofing cladding, cover / corner / barge pieces etc. in required shape, colour duly fixed with stitching screws (with EPDM washers etc. as per site requirement)				
7	109261	Upto 600 mm width (girth)	Running Metre	6.00	488.29	2929.74
			I I		Total	84368.81
		le B-NON SCHEDULE ITEMS				
		elated with non schedule work	I I			
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	1	Conducting laboratory test on disturbed/undisturbed soil samples and submission of test reports immediately after completion for the test .Test to be completed within a week of taking sample (a) Natural moisture content,natural dry density and specific gravity as per IS 2720(Pt.II)-1973 and its relation as per IS 2720Pt.8 1983.		50.00	62.39	3119.50
2	2	Conducting laboratory test on disturbed/undisturbed soil sample and submission of test reports immmediatly after completion for the test etc.(a) Sieve analysis and submission of curve as per IS-2720(Pt.IV)-1985.		50.00	83.19	4159.50
3	3	Conducting laboratory test on disturbed/undisturbed soil samples and submission of test reports immediately after completion for the test. Hydrometre analysis and submission of curve as per IS-2720(Pt.IV)-1985.		40.00	81.70	3268.00
4	4	Conducting laboratory test on disturbed/undisturbed soil samples and submission of test reports immmediatly after completion for the test .Determination of atterberg limits as per IS 2720(Pt.V)-1985.		40.00	59.41	2376.40
5	5	Conducting laboratory test on disturbed/undisturbed soil samples and submission of test reports immmediatly after completion for the test . Triaxial test to determine strength parameters in unconsolidated undrain condition as per IS2720(Pt.XI)-1971		40.00	176.77	7070.80
6	6	Conducting laboratory test on disturbed/undisturbed soil samples etc. Direct shear test as per IS-2720(Pt.XIII)-1986.	Each	40.00	264.39	10575.60
7	7	Conducting laboratory test on disturbed/undisturbed soil samples and submission of test reports immediately after completion for the test. Un confirmed compressive strength as per IS-2720(Pt.X)-1973.		20.00	81.70	1634.00
8	8	Conducting laboratory test on disturbed/undisturbed soil samples and submission of test reports immediately after completion for the test.Consolidation test as per IS2720(Pt.XV)-1986.		20.00	193.10	3862.00

Page 3 of 11 Run Date/Time: 27/12/2022 19:26:25

Tender No: TN-151-22-23 **Closing Date/Time:** 20/01/2023 15:00

9	9	Submission of report on sub soil investigatuion in 5 copies which shall include(site plan showing position of bore holes) (ii) Details longitudinal section of each bore hole showing the classification of soil and values of important parameters i.e. C.O.V.N value.(iii) The results of test on verious samples of each bore hole in proper tabular form(as pr IRC-78-1983 Sh-2).(iv) For rock strata,following information should be given in report classification of rock.Weathering,hardness,joint & beading.Note:A.For pile foundation,(i)Calculation of 500mm dia pile foundation(ii)Bearing capacity and technical recommendation of deep foundation for proposal structure.		1.00	58295.90	58295.90
10	10	Dewatering by pumping of minimum 5 HP capacity including labour, tools & equipments, fuel, operator and running expenses, making out let drains, plugging in flow of water effectively complete in all respect to make the working space dry as required.		200.00	27.12	5424.00
11	11	Driving & pilling 52kg/90R rail to the required depth through mechanically operations with all contractor own tools etc.	Metre	850.00	447.69	380536.50
12	12	Dismantling , chiseling cement concrete/RCC/Lime concrete/jackarch roof/BFS/Stone set/stone or brick masonary in cement of any proportion or lime mortar in any location over ground/foundation making proper without bailing out of water withexisting structure includingdamaging theprotection/precaution conractor,sown pump if required, depositing the dismantled materials from railway work site to outside of railwayland with all lead , lift descentrete by transporting the same by contractor own arrangement and usable materials like street, rail, stone boulder etc will be returned to SSE/W/BPs store or reutilized as instructed by engineer site.		10.00	313.58	3135.80
		<u> </u>			Total	483458.00
1					IUlai	463436.00
Schedule	Schedu	le A1-CC/RCC WORK			Total	463436.00
Schedule Item- 3		le A1-CC/RCC WORK plated with cement work etc.			Total	403430.00
			Unit	Qty	Rate	Amount
Item- 3	Items re	elated with cement work etc.				
Item- 3	Items re Item No	Description of Item Providing and laying in position cement concrete of specified proportion excluding cost of cement, centering				Amount
Item- 3 S No.	Items re Item No	Providing and laying in position cement concrete of specified proportion excluding cost of cement, centering and shuttering - All works upto Plinth level: 1:3:6 (1 cement: 3 sand: 6 graded stone aggregate 20mm	cum	Qty	Rate	Amount
Item- 3 S No.	Items related No	Providing and laying in position cement concrete of specified proportion excluding cost of cement, centering and shuttering - All works upto Plinth level: 1:3:6 (1 cement: 3 sand: 6 graded stone aggregate 20mm nominal size) Providing and laying cement concrete, up to plinth in retaining walls, walls (any thickness) including attached plasters, columns, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchor blocks, plain window sills, fillets etc, excluding the cost of	cum	Qty	Rate	Amount 17118.80
Item- 3 S No.	Items related No	Providing and laying in position cement concrete of specified proportion excluding cost of cement, centering and shuttering - All works upto Plinth level: 1:3:6 (1 cement: 3 sand: 6 graded stone aggregate 20mm nominal size) Providing and laying cement concrete, up to plinth in retaining walls, walls (any thickness) including attached plasters, columns, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchor blocks, plain window sills, fillets etc, excluding the cost of cement and of shuttering, centering. 1:1.5:3 (1cement: 1.5 sand: 3 graded stone aggregate	cum	Qty 8.00	Rate 2139.85	Amount 17118.80
Item- 3 S No.	Items related No 031011	Providing and laying in position cement concrete of specified proportion excluding cost of cement, centering and shuttering - All works upto Plinth level: 1:3:6 (1 cement: 3 sand: 6 graded stone aggregate 20mm nominal size) Providing and laying cement concrete, up to plinth in retaining walls, walls (any thickness) including attached plasters, columns, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchor blocks, plain window sills, fillets etc, excluding the cost of cement and of shuttering, centering. 1:1.5:3 (1cement: 1.5 sand: 3 graded stone aggregate 20mm nominal size) Providing and laying in position M 20 Grade concrete for reinforced concrete structural elements but excluding cost of centering, shuttering, reinforcement and Admixtures in recommended proportion (as per IS:9103) to accelerate, retard setting of concrete, improve workability without impairing strength and durability as per direction of	cum	Qty 8.00	Rate 2139.85	Amount 17118.80
Item- 3 S No.	031011 031011	Providing and laying in position cement concrete of specified proportion excluding cost of cement, centering and shuttering - All works upto Plinth level: 1:3:6 (1 cement: 3 sand: 6 graded stone aggregate 20mm nominal size) Providing and laying cement concrete, up to plinth in retaining walls, walls (any thickness) including attached plasters, columns, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchor blocks, plain window sills, fillets etc, excluding the cost of cement and of shuttering, centering. 1:1.5:3 (1cement: 1.5 sand: 3 graded stone aggregate 20mm nominal size) Providing and laying in position M 20 Grade concrete for reinforced concrete structural elements but excluding cost of centering, shuttering, reinforcement and Admixtures in recommended proportion (as per IS:9103) to accelerate, retard setting of concrete, improve workability without impairing strength and durability as per direction of Engineer in charge All work upto plinth level, including raft foundation of washable aprons, HS tank, pile cap, footings of FOB, and	cum	Qty 8.00	2139.85 2325.34	Amount 17118.80 5580.82

Page 4 of 11 Run Date/Time: 27/12/2022 19:26:25

Tender No: TN-151-22-23 **Closing Date/Time:** 20/01/2023 15:00

		Cement concrete flooring 1:2:4 (1cement: 2coarse sand:				
		4graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost				
		of nosing of steps etc. complete				
5	092011	25mm thick with 12.5mm nominal size stone aggregate	Sqm	11.00	106.38	1170.18
		12 mm cement plaster of mix -	•		<u>'</u>	
6	111011	1:4 (1cement: 4 fine sand)	Sqm	110.00	62.44	6868.40
7	111012	1:6 (1cement: 6fine sand)	Sqm	88.78	62.44	5543.42
		12 mm cement plaster finished with a floating coat of neat cement of mix -	_			
8	111072	1:4 (1cement: 4fine sand)	Sqm	15.00	75.83	1137.45
					Total	195928.57
Schedule	Schedul	e A2-BRICK WORK				
Item- 4	Items re	elated with brick work				
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
		Brick work with non-modular (FPS) bricks of class designation 7.5 in foundation and plinth in :				
1	051015	Cement mortar 1:6 (1 cement : 6 fine sand)	cum	16.00	2163.97	34623.52
2		Extra over item 051010 & 051020 for brick work in superstructure beyond plinth level upto floor two level :	cum	13.90	151.99	2112.66
					Total	36736.18
Schedule	Schedul	e A3-WOOD WORK				
Item- 5	Items re	lated with fiber glass, wood etc.				
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
		Providing and fixing bright finished brass door latch with necessary screws etc. complete				
1	077082	250x16x5mm	Each	2.00	333.41	666.82
		Providing and fixing aluminium tower bolts ISI marked anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with necessary screws etc. complete				
2	078034	150x10mm	Each	8.00	74.50	596.00
		Providing and fixing aluminium handles ISI marked anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with necessary screws etc. complete				
3	078061	125mm	Each	8.00	55.11	440.88
4	078310	Providing and fixing of fibre glass reinforced plastic (FRP) door frames of three legged of cross-section 90 mm x 45 mm having single rebate of 32 mm x 15 mm to receive shutter of 30 mm thickness. The laminate door frame moulded with fire retardant grade unsaturated polyester resin and chopped mat. Door frame laminate shall be 2 mm thick and shall be filled with suitable wooden block in all the three legs. The frame shall be covered with fibre glass from all sides. M.S. stay shall be provided at the bottom to ready the frame	RM	15.00	579.55	8693.25
5	078320	Providing and fixing 30 mm thick glass fibre reinforced (FRP) panelled door shutter of required colour and approved brand and manufacture, made with fire retardant grade unsaturated polyester resin, moulded to 3 mm thick FRP laminate for farming hollow rails and styles, with wooden frame and suitable blocks of seasoned wood inside at required places for fixing of fittings, cast monolithically with 5 mm thick FRP laminate for panels and conforming to (IS:14856-2000) complete work		4.50	3143.50	14145.75
					Total	24542.70

Page 5 of 11 Run Date/Time: 27/12/2022 19:26:25

Tender No: TN-151-22-23 **Closing Date/Time:** 20/01/2023 15:00

Item- 6	structura	al steel work				
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
		Structural steel work welded in built up sections, trusses and framed work, girders, stagings, racks, etc including cutting, bending, straightening, hoisting, fixing in position, including applying a priming coat of approved steel primer, complete - upto 6m height above GL				
1	081031	In RSJ, tees, angles and channels	Kg	14000.00	100.34	1404760.00
2	081032	In flats, plates , round or square bars	Kg	2500.00	97.88	244700.00
3		Aluminium Composite Cladding - Providing and fixing Aluminium Composite Panels having total thickness of 4mm (with 0.5mm thick aluminium foil skin on both sides) alongwith minimum 25 micron PVdF Coating on top coil and Polymer/epoxy coating on Back coil (4-7 microns) fixed on aluminium substructure of 50mm x 25mm x 3mm or 38mm x 38mm x 4mm (IS Grade Aluminium Extrusion) with stainless steel fastening system of Hilti/Fischer Dash Fasteners on facade, horizontal / vertical surfaces of columns, suspended ceiling, sills, jambs, canopies etc. and making 25mm grooves and applying non staining and non streaking sealant 789 or 991 HP with Baker Rod complete as per approved shop drawings and as per specifications (straight and curved). Only exposed surfaces to be measured and paid.		391.90	2322.94	910360.19
4		Fabricating, supplying & installing stainless steel railings for staircases, balconies, FOBs, Enquiry/Reservation complex etc., made of SS 304 grade stainless steel, laser cut / water jet cut (no shearing), polished with Automatic round/flat polishing machine to get a uniform hairline finish. All parts shall be connected to each other with the help of prescribed size CNC made solid connectors, countersunk screws. Welding should be finished ensuring that no welding marks are visible and assembly is mounted on floor with the help of dash fasteners. Railings shall be fabricated as per approved drawings by engineer-in-charge. Manufacturer shall submit maintenance manual and basic material test report for grade certification.		155.85	689.78	107502.21
5		Fabricating, supplying and fixing of 6 to 8 mm thick steel chequered plate conforming to IS: 3502 for pathway, trolley refuges, floor for the bridge including fixing the same over steel channel sleepers by drilling holes in channel sleepers and trolley refuges incl. nuts & bolts, tools and plants, labour as a complete job		0.56	124765.71	69868.80

4. ELIGIBILITY CONDITIONS

5. COMPLIANCE

Commercial-Compliance

S.N	D. Description	Confirmation	Remarks	Documents
		Required	Allowed	Uploading
1	Please enter the percentage of local content in the material being offered. Please enter 0 for fully imported items, and 100 for fully indigenous items. The definition and calculation of local content shall be in accordance with the Make in India policy as incorporated in the tender conditions.	No	Yes	Allowed (Optional)

General Instructions

S.No.	Description	Confirmation	Remarks	Documents
		Required	Allowed	Uploading

Page 6 of 11 Run Date/Time: 27/12/2022 19:26:25

Tender No: TN-151-22-23 **Closing Date/Time:** 20/01/2023 15:00

1	All documents in support of fulfillment of eligibility criteria with respect to completion of similar nature of work for Technical Eligibility Criteria and Total contract value for Financial Eligibility Criteria should be submitted/ uploaded online in the website with scanned copy at the time of tender bidding with details showing in Annexure I, IV. No post tender communication, in any form will be made or entertained, after opening of tenders, in this regard. Railways may however call for the originals of the credentials for verification or any clarifications/confirmations on the contents of the documents submitted. Eligibility of tenderers shall be decided solely of the basis of the document submitted along with the tender offers and any subsequent document whatsoever submitted in this connection would not be given any cognizance for finalization of the tender.	No	No	Not Allowed
2	Payment through Letter of Credit is applicable for this tender as per Railway Board's letter no 2017/ACII/9/10 Pt I dated 20.02.2018 & 2018/CE-I/CT/9 dt. 04.06.2018 (Annexure B & C attached).		No	Not Allowed
3	INSTRUCTION TO BIDDERS: A] The Railway reserves the right to verify all statements, information and documents submitted by the bidder in his tender offer, and the bidder shall, when so required by the Railway, make available all such information, evidence and documents as may be necessary for such verification. Any such verification or lack of such verification, by the railway shall not relieve the bidder of his obligations or liabilities hereunder nor will it affect any rights of the railway there under. B] In case of any wrong information submitted by tenderer, the contract shall be terminated, Earnest Money Deposit [EMD], performance Guarantee [PG] and Security Deposit [SD] of contract forfeited and agency barred for doing business on entire Indian Railways for 5[five] years.	No	No	Not Allowed
4	Shramik kalyan Contractor[s] are requested to get themselves registered on Railways Shramik kalian portal at www.shramikkalyan.indianrailways.gov.in after issuance of letter of acceptance.		No	Not Allowed
5	Contractor(s)/ Bidders are requested to refer to Clause 46A of Indian Railways Standard General Conditions of Contract'2022 with up to date correction slip for Price Variation Clause (PVC) in works contract. Item no 46A.1 of GCC 2022: Price Variation Clause (PVC) shall be applicable only in tender having advertised value above Rs. 2 Crores. [Authority: Executive Director/Civil Engineering(G), Railway Board's letter No.2022/CE-I/CT/GCC-2022/Policy dated 14.07.2022]	No	No	Not Allowed
6	For further details related to 'Bid Security' Bidders are requested to please connect para no 23 of the tender documents.	No	No	Not Allowed
7	Bidders are requested to refer to para no 9 of tender document [Para 41 & 42 of Part II Standard General Conditions of Contract for "Variations in extent of Contract" of GCC 2022]		No	Not Allowed
8	In case Agency desires submission of Bid Security in the form of Bank Guarantee, then please refer to para no 23(3) of Instruction to Tenderers for e-tenders, chapter I for further guidance. [Clause 5.0 of Part I of GCC 2022]		No	Not Allowed
9	Bidders may also upload any relevant document as deemed fit.	No	No	Not Allowed
10	A. Para 5(3) ii. Part I of GCC shall be read as under: ii. The original Bank Guarantee should be delivered in person to the official nominated as indicated in the tender document within 5 working days before closing date for submission of bids. (Advance Correction Slip No.2 vide Executive Director, Civil Enigneering(G), Railway Board No.2022/CE-I/CT/GCC-2022/Policy dated 13.12.2022)	No	No	Not Allowed

Technical-Compliances

S.No.	Description	Confirmation	Remarks	Documents
		Required	Allowed	Uploading
1	Clause 6.1 Part I [ITT] of Indian Railways Standard General Conditions of Contract, July 2022 shall be read as under: 6.1 The tenderer shall submit a copy of certificate stating that all their statements/documents submitted along with bid are true and factual. Standard format of certificate to be submitted by the bidder is enclosed as Annexure-V. Non submission of above certificate by the bidder shall result in summarily rejection of his/their bid. It shall be mandatorily incumbent upon the tenderer to identity, state and submit the supporting documents duly self-attested/digitally signed by which they/he is qualifying the Qualifying Criteria mentioned in the Tender document.	No	No	Allowed (Mandatory)

Page 7 of 11 Run Date/Time: 27/12/2022 19:26:25

Tender No: TN-151-22-23 **Closing Date/Time:** 20/01/2023 15:00

2	Item no 11 of GCC 2022: Tenderer Credentials: Documents testifying tenderer previous experience and financial status should be produced along with the tender. Tenderer(s) who is / are not borne on the approved list of the Contractors of Eastern Railway shall submit along with his / their tender: (i) Certificates and testimonials regarding contracting experience for the type of job for which tender is invited with list of works carried out in the past. (ii) Audited Balance Sheet duly certified by the Chartered Accountant regarding contractual payments received in the past. GCC April 2022 17 (iii) The list of personnel / organization on hand and proposed to be engaged for the tendered work. Similarly list of Plant & Machinery available on hand and proposed to be inducted and hired for the tendered work. (iv) A copy of certificate stating that they are not liable to be disqualified and all their statements/documents submitted along with bid are true and factual. Standard format of the certificate to be submitted by the bidder is enclosed as Annexure-V. Non submission of a copy of certificate by the bidder shall result in summarily rejection of his/their bid. It shall be mandatorily incumbent upon the tenderer to identify, state and submit the supporting documents duly self attested / digitally signed by which they/he are/is qualifying the Qualifying Criteria mentioned in the Tender Document. (v) The Railway reserves the right to verify all statements, information and documents submitted by the bidder in his tender offer, and the bidder shall, when so required by the Railway, make available all such information, evidence and documents as may be necessary for such verification. Any such verification or lack of such verification, by the Railway shall not relieve the bidder of its obligations or liabilities hereunder nor will it affect any rights of the Railway there under. (vi) (a) In case of any information submitted by tenderer is found to be false, forged or incorrect after the award of contract, the contract shal	No	No	Allowed (Mandatory)
3	Item no 12 of GCC 2022: Non-compliance with any of the conditions set forth therein above is liable to result in the tender being rejected.	No	No	Not Allowed

Page 8 of 11 Run Date/Time: 27/12/2022 19:26:25

Tender No: TN-151-22-23 **Closing Date/Time:** 20/01/2023 15:00

4	Item no 14 of GCC 2022: Documents to be Submitted Along with Tender (i) The tenderer shall clearly specify whether the tender is submitted on his own (Proprietary Firm) or on behalf of a Partnership Firm / Company / Joint Venture (JV) / Registered Society / Registered Trust / Hindu Undivided Family (HUF) / Limited Liability Partnership (LLP) etc. The tenderer(s) shall enclose the attested copies of the constitution of their concern, and copy of PAN Card along with their tender. Tender Documents in such cases are to be signed by such persons as may be legally competent to sign them on behalf of the firm, company, association, trust or society, as the case may be. (ii) Following documents shall be submitted by the tenderer: GCC April 2022 18 (a) Sole Proprietorship Firm: (i) All documents in terms of Para 10 of the Tender Form (Second Sheet) above. (b) HUF: (i) A copy of notarized affidavit on Stamp Paper declaring that he who is submitting the tender on behalf of HUF is in the position of 'Karta' of Hindu Undivided Family (HUF) and he has the authority, power and consent given by other members to act on behalf of HUF. (ii) All other documents in terms of Para 10 of the Tender Form (Second Sheet) above. (c) Partnership Firm: (i) All documents as mentioned in para18 of the Tender Form (Second Sheet). (d) Joint Venture (JV): All documents as mentioned in para 17 of the Tender Form (Second Sheet). (e) Company registered under Companies Act 2013: (i) The copies of MOA (Memorandum of Association) / AOA (Articles of Association) of the company (ii) A copy of Certificate of Incorporation (iii) A copy of LLP Agreement (iii) A copy of Power of Attorney/Authorization issued by the LLP in favour of the individual to sign the tender on behalf of the LLP and create liability against the LLP	No	No	Allowed (Mandatory)
5	Item no 14 of GCC 2022: [PART B] (iii) If it is NOT mentioned in the submitted tender that tender is being submitted on behalf of a Sole Proprietorship firm / Partnership firm / Joint Venture / Registered Company etc., then the tender shall be treated as having been submitted by the individual who has signed the tender. (iv) After opening of the tender, any document pertaining to the constitution of Sole Proprietorship Firm / Partnership Firm / Registered Company/ Registered Trust / Registered Society / HUF/LLP etc. shall be neither asked nor considered, if submitted. Further, no suo moto cognizance of any document available in public domain (i.e., on internet etc.) or in Railway's record/office files etc. will be taken for consideration of the tender, if no such mention is available in tender offer submitted. (v) A tender from JV shall be considered only where permissible as per the tender conditions. (vi) The Railway will not be bound by any change of power of attorney or in the composition of the firm made subsequent to the submission of tender. Railway may, however, recognize such power of attorney and changes after obtaining proper legal advice, the cost of which will be chargeable to the Contractor.	No	No	Allowed (Mandatory)

Page 9 of 11 Run Date/Time: 27/12/2022 19:26:25

Tender No: TN-151-22-23 **Closing Date/Time:** 20/01/2023 15:00

6	Item no 15 of GCC 2022: The tenderer whether sole proprietor / a company or a partnership firm / joint venture (JV) / registered society / registered trust / HUF / LLP etc if they want to act through agent or individual partner(s), should submit along with the tender, a copy of power of attorney duly stamped and authenticated by a Notary Public or by Magistrate in favour of the specific person whether he/they be partner(s) of the firm or any other person, specifically authorizing him/them to sign the tender, submit the tender and further to deal with the Tender/ Contract up to the stage of signing the agreement except in case where such specific person is authorized for above purposes through a provision made in the partnership deed / Memorandum of Understanding / Article of Association /Board resolution, failing which tender shall be summarily rejected. A separate power of attorney duly stamped and authenticated by a Notary Public or by Magistrate in favour of the specific person whether he/they be partner(s) of the firm or any other person, shall be submitted after award of work, specifically authorizing him/them to deal with all other contractual activities subsequent to signing of agreement, if required. Note: A Power of Attorney executed and issued overseas, the document will also have to be legalized by the Indian Embassy and notarized in the jurisdiction where the Power of Attorney is being issued. However, the Power of Attorney provided by Bidders from countries that have signed the Hague Legislation Convention 1961 are not required to be legalized by the Indian Embassy if it carries a conforming Appostille certificate.	No	No	Allowed (Mandatory)
---	---	----	----	------------------------

Undertakings

Ī	S.No.	Description	Confirmation	Remarks	Documents
			Required	Allowed	Uploading
	1	$\mbox{\ensuremath{I}/\ensuremath{We}}$ have visited the works site and $\mbox{\ensuremath{I}/\ensuremath{We}}$ am $\mbox{\ensuremath{/}}$ are aware of the site conditions.	No	No	Not Allowed

Custom

S.No.	Description	Confirmation		
		Required	Allowed	Uploading
1	The following conditions communicated vide reference stated below are part and parcel of the tender document- 1.Before releasing the work order after finalisation of the tender, it will be ensured that contractors have Provident Fund code no, if applicable. 2.Contractors shall ensure compliance of the EPF and MP Act, 1952, by the sub-contractors, if any engaged by the contractor for the said work. 3. The workers deployed by the contractors or subcontractors should be enrolled as members of Provident Fund and should be given Universal Account Number (Aadhar linked). 4.While clearing bills of such contractors, certificate will be obtained from the contractor that all the workers employed directly or indirectly by him are registered under EPF and due contribution have been credited into their account. 5.Copies of all documents related to item no 1,2,3 above should be signed and submitted along with the offer. 6.Copy of documents related to item no 4 above should be submitted along with on account/final bills. Bills are liable to be withheld till submission of the same. [Authority of 1,2,3,4 above: Letter no RO/JPG/PA/144 dt. 09.2.17 from Ministry of Labour, Govt of India, Regional Office, Bhavishya Nidhi Bhavan, Din Bazar, Jalpaiguri-735101]	No	No	Allowed (Optional)

6. Documents attached with tender

S.No.	Document Name	Document Description
1	CheckList.pdf	CHECK LIST
2	AnnexurelalbIIIIX-TechCompaffidavit.pdf	TECHNICAL COMPLIANCE
3	Annexure-B-LOC.pdf	LETTER OF CREDIT B
4	SHRAMIKKALYAN.pdf	SHRAMIK KALYAN
5	ComlCompliance-IVVVIVIIVIIIIXXI.pdf	COMMERCIAL COMPLIANCE
6	GCCACS2022.pdf	GCC 2022 ACS
7	ANNEXURE-C-LOC2.pdf	LETTER OF CREDIT C
8	GCC_April-2022_2022_CE-I_CT_GCC-2022_POLICY_27_04_22.pdf	GCC 2022

Page 10 of 11 Run Date/Time: 27/12/2022 19:26:25

Tender No: TN-151-22-23 **Closing Date/Time:** 20/01/2023 15:00

9	annexureVIBcontractualturnoverdata.pdf	ANNEX VIB CONTRACTUAL TURNOVER DATA
10	JannexureVIABidsecurity ndf	ANNEXURE VIA BID SECURITY
11	E-Tender-TD-Ch-IIIword-2022.pdf	TENDER DOCUMENT
12	2022_12_13RBCE_CE-I-CTIndianRailwaysStandardGeneralConditionsofContractApril2022ACSNo_21.pdf	GCCACS2

This tender complies with Public Procurement Policy (Make in India) Order 2017, dated 15/06/2017, issued by Department of Industrial Promotion and Policy, Ministry of Commerce, circulated vide Railway Board letter no. 2015/RS(G)/779/5 dated 03/08/2017 and 27/12/2017 and amendments/ revisions thereof.

As a Tender Inviting Authority, the undersigned has ensured that the issue of this tender does not violate provisions of GFR regarding procurement through GeM.

Signed By: KARTIK SINGH

Designation: Sr.DEN1

Page 11 of 11 Run Date/Time: 27/12/2022 19:26:25